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false

true
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(loop body)
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false

(i < 100)?
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System.out.println(
"Welcome to Java');
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System.out.println("Welcome to Java!"
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i <100 Enter/

Loop? | lteration Actions

0<100 1 print, i ++
True \ 2 print, i ++
drue || 3 print, i ++
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a%for (m i < 100Q
‘ System.out.println("Welceme=to Java!");
}

o The ‘initial-action” is executed only once, so it may be moved right
before the for loop.

o The “action-after-each-iteration” is executed repetitively to make
progress, so it may be moved to the end of the for 1loop body.
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LCompare the behawour of this program @
@ (int @unt =} oune < 108; €
System.ou prlntln( 'Welcome :
)
/<-7;=-
and this program ) >

for (int @; éount ﬁ & : ) | [ +
éSystem.ou .println("Welco o Javal™"); % 2% Z {

}
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Compare the behaviour of this progra

7728

int count =@ — ) &
for (; count, ) | (? 44\—] /@

stem.out.println("Welcome to Java " +@ L R

/* count = count + 1; */

and this program

int count (kj leo /oD
for (; count‘

System.out. prlntln("Welcome to Java " @+ ST
/* count = count + 1; #*/

}
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Compare the behaviour of the following three programs:

‘1
for 1nt1:@, 1@, ‘

System.out. prlnt( 1);

S
\ Output: 12345

Nvt:vm@
for ;1 <—§>, ) |

System out.print (1) ;

Nesox]

Output: 12345
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int i _% 0 T <=0 | cef | pat
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- System.out. prlnt(@, } 2 2<= T % 5
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Output: 23456 " b T
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Eount_<_100 %

y .out.prinn("Welcome to Javal!™); ’7[;7/< _ 5 —

count ++; /*,A?ount = count\+i—,‘/*/ ), /
} N\ (6( ‘——->
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WMM count = 0;| ,Z;[_(‘e
loop-

y
continuation-
condition?

false

(count < 100)? L

true

Statement(s)
(loop body) | System.out.printin("Welcome to Java!™); |

count++;
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System. out prlntln( 'Welcome to Javal!"); | // .
(J++L /x j =3+ 1; x/}

j <103 | Enter/Stay Loop? |Citeratio Actions

3<103 True print, 5 ++
4 4 <103 (True)) print, 5 ++
5 5<103 rue print, § ++

2)| 102 <103 (iTruQ 100 | print, 5 ++

103 <103 False = -
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Compare the behaviour of this program

int count

while (cou {

System.out.printlng®Welcome to Java'")
/* count = t 1; /00 ’F/w@
}
A/ and this program
int count i') .
hil j
while (count( L[5 [@

\
System.out.println((Welcome to Javal™) ;
Goimi ) /- count VLTINS 00 S
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Compare the behaviour of this program

int count =
~while (count(< 100) {
" + count + "I");

1> Sys .out.println("Welcome to Java
il
count ++} /* count = count + 1; */

}

and this program  J,

int count 4:9;
while (count’(<= 100) {
" + count + "I");

€;S out.println("Welcome to Java
count +4/; /* count = count + 1; */ —
}
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System.out.println("Enter a_radius value:");

doubleq/@@ = iﬁput.n—eéthub7ﬂ);
) =3 2
——?whlle (radius >= 0) {
—;double area = radius x radius * 3.14;
eSystem.out.println("Area is " + area);
ut.println("Enter a radius value:");

adiu igpufT extDouble();JG
ZFSystem.out.println

("Exrror: negative radius value.");
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